Q-\)/‘”\ A~ =D

53 il p )] Juadlf Dby dy g it Aralas
Pt/ Yot il plell o Liall pplail) Aals
LdaS 07 ¢ 04 st basidd Ay 49 ,dl)
clelo ¥ s a il ———emn (&wu'_.o'g,l—zu.ﬂ!
Ay didl  Jo el

(A 1o) Ja¥) Jpedd

ALS (9 il g Aunadl (mm)ﬁbh.ﬂuli\.m)kiﬂ sl g Jau‘g:m.!\wdSH'ﬁ E&'A”qj\lﬁdj.le.“
. UL »3¢d (R — Chart ) s3als ( X - Chart ) bugia) by A st
&lﬂd\;@ﬂﬂih,\.\b“h;_&.uﬁ‘ n@y&ag@u‘\léaﬁ‘ JJAAOSQ.})&Q\L&U\JSQ‘JL}EM&A
(R = Chart ) saalis ( X - Chart ) Bugiall ik 33 Gl jall 538 el i

Sample size,n=4( A=1500 A,=0.729, D, =0.00, D, =4.698,
D,= 00, D,= 2282, and d,=2.059)

5 Lall Jugiall | ddal) o8, al} hugial | Aipl) a3

R X

037 (1591 ™ 019 |1591 | °
031 11605 1 1027 1599 | 2
029 11599 16 [0.17 [1592 | 3
033 |1586| 17 046 [1593 | 4
5
6

=
>

034 |16.01] 18 1047 1598
028 (1598 19 1020 |16.03
020 116.02] 20 1046 |15.96 7

023 1600/ 21 1020 [1593 | 8

0161590, 22021 1596 | °
0321586 B 1030 1585 [ W0
\015»”%15_,9% 24 ‘029 '1%991 "o

| |

030 115.94] 25 )4” 15.96

93’ 3%“‘2}43’ 13



LA\ \/‘g &j /'(' - ~ " -
PN, 2D Tl )y )l

Beni Suif University Faculty of Industry Education
Faculty of Industry Education Fourth year (electronics)
Jan. 241 2o | 2 Time allowable: 3 Hours

Digital signal processing
Attempt all questions:
1.a.State with justifications, the major advantages and major disadvantages
of DSP compared with analogue signal processing system design.
b. Given the time sequence x(n) defined by

B for —w0<n<-=3

2

2+ Jor -2<n<0
x(n) = 2 T

—sinﬁzz for 1£n<3

1 for 4<n<w®

(i) Graph the sequence fromn=-6 ton=6
(ii) On a separate graph show x(-n)

(iii) On a separate graph show x(n-2)

(vi) On a separate graph show x(2-n)

2.a. Mention the different applications areas of DSP.
b. In a series R-L-C network shown in figure 1
R=1ohm, C=10"farad, L= (Zn)'2 and V()= 2%01 0<r =T
is periodic with period T= 107 sec. as shown in figure.

Determine the first two nonzero terms for the loop current i(t) og \ 73 Fo\»\Y“’/Y Leyies

3.a. Find F(Z) for the given sinusoidal sequence

f(n) =sin(nar)
b. Find the inverse Z-transform of the following using partial fraction
expansion method

X(Z)= Z

1-02527" 03752

4.a. Sketch a scheme for the digital processing of an analog input signal.
b. INustrate the inverse discrete Fourier transform (IDFT) from its DFT

components [ 2, 1+j,0,1-j]
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ANSWER QUESTIONS BELLOW:

1-A-DEFINE: PLC-IGBT-HVT-LCD-SCR-RTD-PLA
1-B-EXPLAIN STATIC CHART OF TRIAC

1-C-DRAW THE WAVE FORM OF SC R CONNECTED TO
LOAD AND FIRED WITH TRIGGER AT ANGLE 45.

2-1-EXPLAIN WHY AMPLIFIER MAY BE REQUIRED FOR
OUT PUT STAGE OF LOGIC CIRCUITS.

2-2-INDICATE WITH DRAWING VARIOUS
COMBINATIONS OF RELAY CONTACTS.

2-3- MENTION TYPES OF TEMPRATURE SENSORS.
3-1- COMPARE FEATURES OF SS LOGIC DEVICES AND
RELAYS.

3-2- EXPLAIN WITH DMWTNG METHODS OF .
COMMUTATING SCR.

3-3- EXPLAIN CAPACITIVE TRANSDUCER.
4-1-MENTION"APPLICATIONS OF:

TRANSISTOR- OP-AMP-SCR- TRIAC.

4-2-DRAW THE CIRCUIT OF NONINVERTING
OP.AMP.AND COUNT OUTPUT VOLTAGE IF INPUT
RESISTANCE=10 K, FEEDBACK RESISTANCE =90K,AND
INPUT VOLTAGE = 5.5VOLT.

4-3-WHY WE USE A DARLINGTON TRANSISTORS AND
IDENTIFY ITS TERMINALS.

5-1-STATE TYPES OF TRANSDUCERS BASED ON
ELECTRICAL PRINCIPAL.

5-2- MENTION ELEMENTS USED TO MEASURE
PRESSURE, AND ACTUATORS FOR FLLOW CONTROL.
5-3- ADISPLACMENT TRANSDUCER USED IN CONTROL
SYS. CONSISTS OF RESISTANCE WITH ASLIDING
CONTACT OR WIBER THE SHAFT STROKEOF 75mm IS
APPLIED TO IT IF TOTAL RESISTANCE IS 6K AND V=4.5
WIBER 25 mm FROM LOWER END WHAT IS VAUE OF
OUTPUT VOLTAGE.



C \\///Q “\ B

pn W Gpan 1 & auy

PV NA/Y e d e el S ol pal) Juaadll bl haial

Aal) Aad ol gl T ol YIS yac dgia Ve s WA YA AN G
Y Sl ghaall 2l g gana iyl Coveal el 530 A (ga %) © Aa sl

el & 3 a3l

f34 50 9 430 jan 83

(@583 5362 T s 1S

7 L) 3,140 9 Jaudads ;B alall

L9

i

A 2

@Slall aglail I

IIIIIIIII.lll-lIIIIIIIIIIIIIIIIIIII.I.II
e R e~

g

dgasan 40Y) ALY o qual
| 1Y) g
fauc Liall slanall Jats sl apdaill ilis Y |
gaLuY - Al A gl s je o
2 ﬁ\i“ d ‘E‘

cAg.La.“EJ\J:)”‘auu‘au‘)“eGAJi

fauluall alal CA . Y Wilball 1a e o

(Lt JS @l paa s iae S5 ae) 38 U5 A 38 5l Al (g0 IS 0o (38

b gi £ 2my Ay ol Al )
Ang) Al & DAYl Jara -0
Avselall Auall AMAY) Ao

2)

ot o sl
fige lall slaiall Jala (3 jall pidd gile ) yo canl i cillalgiay) 3 |
$a )l oal el iy (b e licall a1 50l sy
jomalal J gl
Sl Haddl Al Gl sl s doalii¥ e e |
(aaay e el gibadll hlwam;u,usg;dyg\ﬁ @
€0+ = alall of pall AaSH has g Vo v = Alalall 5V AESE Gan ) 00 v v = LY RS
e g.ul\s.: TACNG o "d}ay‘k_u“s.\c g £ —MMH\S\.H\QJ\S_\ €3aa g
o.\;JY'~~ =

AS il 03¢ Ao Laadl AualiiY) a5 jall Apaliay) dyn jall dualyl

e S Gl

u,..usdbum
£l A8k JLad) o i A Jal gadl Al g il sid e |
\‘\AOWu\w\dbwujieﬂ‘eﬂu&uwu_sul_:\.uc_myv.“_ﬁ‘d}.\A“ @

(,\‘\'\V e\.c @;.m]\ u\a;u.“(.;;).\.\n‘\.ﬂ);.\dl Cilaa giall e\mbu,lul,“,\‘!‘\i i

¢

¥

1Y 1) . Al AA AY AT Y4 A0 aul
£ L8 €Y. Evnn YA Yo Youu YeEun Yo YA Cilegaall
(il

nuéeé)ﬂ\.; ‘-,__}w &= uca.th.n‘y‘ t.'.'..lé:u‘



th‘C AL Yo (‘J’/)\ o ‘

: _ paa ) aa ) gy )
A LI/Y N e plall ) (pual 20 Gl pLT el iy goa (gl Al
ol M0 3 Gl — gL Qg s oSy S liall gl 48
(5L a1 U acd
IIllIIIIIIIIIIIIIIIIIIWIIIIIIIIIIIIIIIIII‘I:!II.I‘II
:MQ‘J‘M‘JEOP%‘

Ja¥) gl
g o liall mlaiill (52ba S
T30 j300 5 4y oo JS3 aoa il ol Lath pansil s Sl o a5 .2
:‘ﬁ’m\ J 't:“
b 8D e peliall sl cage
?\.4.3;“&‘ o Las Wiluall 1 e o
) 2 )
¢ Jaall (SUI b ik gall o g8 g Dpapall ) S
oAl L ttle ) ya and gl cildalia¥l ale s o 3ol i e
;g‘ é‘ A ‘té‘
¢\ IS o haaa g g 83 ) g 38 5adlll 5 Ay S pall Aibaiall (50 S 002 B A |
£l S alalll (5 3 e linall GaY) cillalfial s o
;! P_w\i,“ d\ ‘am“
Ty} oS ymial Ay gall a1 gale s aaliiY e
el ALl L3S (e Y1 e slaall e J guaall 3
= pLal) 2l Ail5 Ban g Toe s = Alaladl (S0 Y) AT, Bang) e = Yl 48

_3A;Ji~~~
=dde CallSiBan g Vo o v = Jpa) CallSE ¢ Ban g Yo o 0 = dadduall A8 AN
_EAAJY‘O'~

ASHal adgd dpelaall iy Aa 52 hall daaliiYl cdpa Hill AalliY! 1 he S al
s gadiadd) gl

il Ry ) o A0 0 lsall AL g i 1dp |

ANy pls N Sy ey Lo geia
Srasd | g | o s pedon [ pbnt) | Mg | 4| gla] did| e
YA YV Y. Y¢A Yésr| YYO | YYe | YY. AR F IR

"\-vn “
L35t T3] By aial) e sl phoaialy p ¥ o0 (gl s (o Aad giall el aal

G gilL it as cecdlanyl gl



)

(o= uall aadaill 4418 g (9 Aalas
Agaall Aunigh and e gill arecal
(S2a Al 48 J.Z—Bﬁ@u%

T, Slelat el

s BN e I ey gaan Lauda ga A ALY Co Gaa)

(%) ) :ds¥) Jhpead)

el s b e dadadl Gl g il e Jlaial] 48 y2i e S

(%Y + )i ) J) gl

Y 3 geall Jas (ol 51T VY daibisiy an o ¥ aul s AUl 3 gand Aliaiio b3elE para

o (YomfpaS) = 5l sg2) O+ o 3
(%Y« )il Jfgaadl

VU Y dssbuiy aul o ¥ ant s dclad 3 gand aus b daoia sall A8 jidiall 322 panan

Y1V T asaliig ant o * ant s acllad Jal dgee 55k e 2 Y 3 genll Jaa ouall
Al 3g2) L a¥ 0= 5202 Y1 (5 5ne O Allsall g hA e e 3 Y 3 senll e il

(YpudpaS)=
80t| 60t
. 77 . 7
40cm*40cm 35 g 30cm'30cm
Sm

(%Y - Y2 ) ) gand)

1 (P\YAA:‘MJ(’*“T'*?""’V' @MJMN)SUM)A\LLJ)U‘DM:N‘W
@Lﬂ‘,e..ﬁ#eu\'« %MP‘Y\_\}A:J\JOL/\n &M}YJMJA&@A{\J\‘
e o= 3 Y1 ) glae (o AL Al y GbT e e 3 Y 3 genll Jes sl 5 V1 ) Y

(Y251 = o i 343)

. 60t Sot 60t
, N ' 7 V7
30cm*30cm NN 40cm'40cmy/ V/ 30cm'30cm
1 35m . J5m
(tea )8 g pac/ 3

dm.)mm/.)



2011/2010 (ol pal) plad) JOVPPRRRE PAN
alelu 3 roladal) o)
’ ey [ pglesil
2011/1/18 olalad) g Sl gglegil 2yl
Lslag 4ad

PSR )

5 jlac Ayl )11 43 0l a8 ga (Gaeadl alel Y1 (sasl ) Juadl) flaiad
’ -l L Ly i) Lo o ) ALY e

¥ sl
zoal (o) siay) — piiall — ll) o oalias A e Al da jay daieg §1,8l0 (5 pad) Js30
i ¢ )l patliad Jaadill

3 A
Juadl A yd — agenill aUaSil Ay ua e e O LI, Lgadiase "SI oaiiad Jpaiilly & (i
. § clgad ¥ dallas — JUI

My eadl cilaEiall (e AuduS Ap€ull cie ) jill (g el o oS A s a gl O omg () send) panadl™ (2
§ 5 pmadl il Biah WINA e (A Jal gall Laiia ga € Syl o jliall 030 z sl

SN ) gl
21y gl LA jualic L o) OF g s Aan e e 1l sl Sl Jpalilh Jiai” (1
Sl (Sal LIS Amsiia gill ALY lida) Lo ga § 5 ball 238 7 il "l sl

W5 £l g g5 AL CAAT Ly (g a1 S8 b gl yealial (e "R yall A" (-
Al ¢Sl LS A pn ) LAY Liana Ayl Anii) palliad (o Juadily

2 M gl
S yonll e il b il Edlaal)y Gyl 1 ol o Jonadlly (1S3

cladll 5 5 s Tlial pe Al gl
ala M.\l /g‘m .



()/Q\ JJ\WILJG&JLJ u»y/\

BENI SUEIF UNIVERSITY Department OF Electronics
Faculty of Industrial FINAL EXAMINATION Time allowed: 3 hours
Education (Jan. 2011) Spec.: 4" Electronic Tech.
Subj.: Computer Alded Testing Maximum Mark (50) No. of questions: 4

Exawriner: Prof. D M. T Morta
Attempt the following questions:

Q1. (a)- Each number representsa group of registers, what is the name and properties of registers
for each number?

-__......_:., -

S

3)........ (c—olmic |cs CAIOS‘CGIEJ

(b)- Design a circuit (usmg bruun urayraina wiui capiaiiauul 1Vl Gautt uiuek as much as possible) to
rotate a unipolar stepper motor four steps to the right or to the left using: (74L5245 - ULN2003 -
Parallel Port).

- Why we use IC (74LS245) after parallel port? Explain?

(c)- What is the error in this circuit, shown in (fig.1)? Explain with draw?
+5 Y external Supply

+5V — D58 NEJ
5

'uppl’\i ¥ie0 00 KQ ]_:9,

? \ d ;

O
7 Do

fon Kil Il
021 o—--iw'\,——-t

3gogiéﬂesiswr o 1
(Fig.1) o2 NIRRT

@@@@..@.@@@@ '

- The LED will light when DO equal to 0 or equal to 1, Explain your answer? Why we use a resistor in
this circuit?

- What is the value of the current will path through the resistor after power on and after you correct
the circuit?

- In the practice what do you make to know the cathode and the anode of the LED? Explain your
answer with draw?

Q2. Consider the circuit shown in (Fig.2):-

(a) Correct this circuit? Explain with draw'?
-What is the name and disadvantages of this circuit? And what are the values of Ip,I1, I
and I37?
(b) - After correct the circuit, calculate the analog output if you have the following digital inputs:
i) 1001 i) 1101 iii) 1010 iv) 1011
(c) - Determine the resolution for a 5-bit DAC? Expressed as percentage?

PTO W
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Benisuef University Industrial Education College

Final Term Exam Measurements - Fourth year Fine Mechanics
Academic Year 2010/2011 Time allowed: 3 hours

Dr.Eng. M.S. Abd-Elhady Sunday 9'" of January 2010

No. of Pages 1 + Table
Q-1 A PMMCis used as an ohmmeter Ew=1.5V,FS.D.=100 uA, R1+R =15 kQ
Determine:
(a) instrument indication when Rx=0, @ pt)
(b) how the resistance scale should be marked at 0.25 F. S D.,0.5F.S.D, 0.75F.S.D. (4 pt)
(c) explain'the principle of operation of PMMC, and proof that the deflecting moment My is
equal to Mgy= Constant x o S pt)

Q-2 Aresistance is to be measured using an ammeter, a voltmeter and a power supply.
State:
a) when to connect the voltmeter in parallel wzlh the resistance and draw the measuring circuit?
@pt)
b) when to connect the ammeter in series with the resistance and draw the measurmg ciruit?
(2pt)
C) A resistance is measured by an ammeter and a voltmeter where the ammeter is connected
series with the load and voltmeter connected across the power supply. The measured current is
0.5 A, and the voltmeter indjcation is 400 V. The ammeter has a resistance of R=5 Q and the -
voltmeter on a 500 V range has a sensmvny of 5 KQ/V Calculate the value of R. :
4py | En
Q-3 (a) A capacitance is to be measured using a parallel capacitance bridge. Proof that at balance the G
capacitance Cp and the parallel resistance Rp are as follows, ’
Cp*=CiR3/Rs
R,=R R4/R; (6 pt)
(b) A Mawell inductance bridge uses a standard capacitor of C3=0.242 % WF and operates at a
supply frequency of 50 Hz. Balance is achieved when R;=2.26KQ+50Q, R3—370+2OQ and

R4=600+30Q.

Calculate:

I-The inductance and resistance of the measured inductor @pt)
II- Determine accuracy of the measured value @pv

Q-4 (a) Explain the principle of operation of a Thermocouple, and draw the measuring circuit. (4 pt)
(b) What is the Seebeck effect? ' 2 pt)
(c) Explain the principle of operation of a Thermistor? @2pt)
(c) An iron-constantan thermocouple is connected to a potentiometer whose terminals are at 45
°C. The potentiometer reading is 3.59 mV. What is the temperature of the thermocouple
junction? 6pt)

Q-5  (a) Explain the principle of operation of an Oscilloscope, use neat sketches. “pt)
(b) Explain how a signal is drawn on the screen of the Oscilloscope, use neat sketches. (4 pt)
(c) A PMMC instrument with FSD = 200 pA and Ry,=1 kQ is to be employed as an AC
voltmeter with FSD =50 V (r.m.s.). Silicon diodes are used in the bridge rectifier circuit.
Calculate the multiplier resistance value required. Given also V=0.7 V (Peak for silicon
diodes). Draw the bridge rectifier circuit. - 6 pt)
Good Luck v ’
Dr.Eng. Mohamed Salama Abd-Elhady
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BENI SUEF UNIVERSITY Department Of Control Technology

Faculty of Industrial Education Time allowed: 3 hours V’Q/ /J \
Subj.:Microprocessor Applications Spec.: 4™ Electronics Tech & Control Tech
Examiner: Prof. Dr. Ramadan MOSTAFA January 2011

Number of Questions:4 Number of Pages: 1 Maximum Mark: 60

1) a-Write a program to toggle all the bits of P2 continuously using the CPL
instruction.assuming a starting value of 33 H. Put a time delay of 2 seconds between
each issuing of data to P2 if the clock frequancy is 12 MHz. [S marks]

b-What is the memory organization of 8051 microcontroller.Write at least one instruction
to read data from each memory space. [5 marks]
c-Write the contents of A & B registers after executing the follwing instructions. [S marks]
MOV A#140
MOV B, #200
MUL AB

2)a- Show the conditional jump instructions of 8051 microcontroller. [S marks]
b- Write a program to execute the Boolean function: [S marks]

P0.7 =(P1.5A P13)v (P14 vP12)

c-Draw a hardware practical circuit using 8051 microcontroller as follows: P2.0 to P2.7 as
input connected to 8 switches . Pins P1.0 to P1.7 as output connected to 8 LEDs . Each
LED lights when the corresponding pin is HIGH . [S marks]

3) a-Design an embedded system based on 8051 microcontroller that continuously gets 8 bit
data x from P2. and sends y = x*+2x — 12 to P1.Note: x is between 0 and 15.
Simultaneously creating a square wave of 200 pS period on pin PO0.1. Use timer 1
mode 2 interrupt to create the square wave . f = 12 MHz.. [10 marks]

b-Write the necessary instructions to receive bytes of data serialy and output them parallely
through P1. Set the baud rate at 4800 .fix = 11.0592 MHz. [5 marks]

4) a-Write all the subtraction instrutions of 8051 microcontroller and indicate the addressing
mode for each instruction . [S marks]

b-Show the list file and the execution time of the following assembly source code if the clock

frequancy is 6 MHz . {10 marks] =
ORG 100H Mnemonic opecod Byte | Cycl
ADD A.#n 24 2 1
MOV DPTR, #300H SUBB A#
. H0SH B A,#n 94 2 1
MOV RO, DJNZ add , radd D5 2 |2
BACK: MOV A,RO DJNZ Rr, radd DS-DF |2 2
MOVC A,@A+DPTR MOV addr, A F5 2 1
MOV P2,A MOV ARr ES8-EF 1 1
DJINZ R0,BACK MOV DPTR,#nn 90 3 2
SIMP $ MOVC A, @A+DPTR | 93 1 2
MOV Rr, #n 78-7F 2 1
ORG 300H MOV Rr, add A8-AF |2 2
XSQR_TABLE DB 1,4,9,16,25,36,49,64 NOP 00 1 1
END RET ] 122 1 |2

[ Good Luck '
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